o
[N

<0 > (rad)
o
o [
[ [¢)]

< dcotl>)

107 1 107 1

0.05
0
-0.05 -0.05
_01 )
=015 -t e -0.15
_9_-0\»’2 1 | 1 | 11 9 !
T S :
14 24 ;
e ) :
0‘95-—1 2 3 -1 ) :2 3
10 1 TPlpoT (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamlinélf)
—=— DQM_mKFIt_T1original
—e— DQM_mKFit_TT_pL
—— DQM_mKFit_TT_pLW
—— DOM_mKFit_TT pLW_IMP
3 100 E 100p
= 80 = 80-------
A - A o
2 B60F-----eeeea Y 60F-------
s F o F
v 40_— """"""""""""""""" A I \" 40_— """"
f 20F---
of T
: 20+
: L T
40 ------- 1
; —60f----+- o
: -80F-------
: .9—1805 M 1 1 B T BT B AT
: © t
B o [
; e R
5 (:)2 5 0.95C
TPlpT (PCA t]b beamliné‘?

2 3
TPlp?T (PCA tjbobeamliné'f)

<0 / > (Y
PP, > (Y0)
O = N W N O

—1 I I : 2 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


